

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

Contract:

02241211 Letting:

December 11, 2024 11:00 AM

Call Order: 001

E21G4-R0

District 2 District:

Counties: BRADFORD, DIST/ST-

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

WIDE

Project(s): 41021347265 (*)

Contract Desc: Bradford County Mowing-Routine Maintenance

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	GRSC, INC.	Responsive	Winning bid	\$244,721.70	100.00%
2	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$317,560.80	129.76%
3	GRADING & BUSH HOG SERVICES IN	Responsive	Non-Winning Bid	\$326,881.60	133.57%
4	SUPREME ROOFING & CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$338,916.80	138.49%
5	FLORIDA LAWN MEDICS LLC	Responsive	Non-Winning Bid	\$354,163.20	144.72%
6	BOONE IMPROVEMENTS, INC.	Responsive	Non-Winning Bid	\$383,292.80	156.62%
7	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$416,240.00	170.09%
8	AMG OPERATIONS, LLC.	Responsive	Non-Winning Bid	\$438,660.00	179.25%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 02241211 December 11, 2024 **Call Order:** 001 **Contract:** E21G4-R0

District: District 2 Counties: BRADFORD, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS WIDE Project(s): 41021347265 (*)

Contract Descr: Bradford County Mowing-Routine Maintenance

The improvements under this work document driven contract consist of large machine mowing, slope mowing, intermediate mowing, and litter removal on state maintained right of ways in Bradford County. Mobilization and Maintenance of Traffic are incidental to the pay items listed. RENEWAL OPTION. BID EXPRESS MANDATORY.

	No / Item ID Description	Alternate	Quantity Units	(1) GRS(C, INC.	(2) JT RUBY CO SERVIC			& BUSH HOG ICES IN
() in	dicates item is bid	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (LARGE MACH	IINE MOWING (AC					
0005 LITTER	E107 1 1 REMOVAL		8,107.200 AC	14.74000	119,500.13	18.50000	149,983.20	16.00000	129,715.20
0010 MOWIN	E107 2 1 IG (LARGE MAC	CHINE)	4,908.800 AC	17.11000	83,989.57	26.00000	127,628.80	24.75000	121,492.80
0015 MOWIN	E107 2 2 IG (SLOPE)		180.800 AC	150.00000	27,120.00	76.00000	13,740.80	200.00000	36,160.00
0020 MOWIN	E107 2 3 IG (INTERMEDI	IATE MACHINE	201.600) AC	70.00000	14,112.00	130.00000	26,208.00	196.00000	39,513.60
		MACHINE Sec WING (AC)	ction Totals:		\$244,721.70		\$317,560.80		\$326,881.60

Contract Grand Totals:	\$244,721.70	\$317,560.80	326,881.60





Tabulation of Bids

Page 2 of 4

Lettin	ıg:	02241211	December 11,	2024 Ca l	l Order: 001		Contract:	E21G4-R0	
	e No / Item II n Description		e Quantity Units	(4) SUPREME CONSTRUC		(5) FLORIDA L LL			PROVEMENTS, IC.
	-	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (LARGE MACHINE MOWING (AC								
0005 LITTER	E107 1 1 R REMOVAL		8,107.200 AC	19.00000	154,036.80	9.00000	72,964.80	20.00000	162,144.00
0010 MOWIN	E107 2 1 NG (LARGE N	MACHINE)	4,908.800 AC	30.00000	147,264.00	53.00000	260,166.40	26.00000	127,628.80
0015 MOWIN	E107 2 2 NG (SLOPE)		180.800 AC	130.00000	23,504.00	55.00000	9,944.00	350.00000	63,280.00
0020 MOWIN	E107 2 3 NG (INTERMI	EDIATE MACHIN	201.600 NE) AC	70.00000	14,112.00	55.00000	11,088.00	150.00000	30,240.00
		GE MACHINE S MOWING (AC)	Section Totals:		\$338,916.80		\$354,163.20		\$383,292.80
		Contract G	rand Totals:		\$338,916.80		\$354,163.20		383,292.80





Tabulation of Bids

Page 3 of 4

Letting:	02241211	December 11, 2	2024 Cal l	Order: 001		Contract:	E21G4-R0	
Line No / Item ID Alternate Quantity Item Description Units		(7) T & M LAWN-FENCE SERVICE INC		(8) AMG OPERATIONS, LLC.				
() indicates iter	n is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTI	ON: 0001	(LARGE MACH	INE MOWING (AC					
0005 E107 1 LITTER REMOVA		8,107.200 AC	20.00000	162,144.00	22.50000	182,412.00		
0010 E107 2 MOWING (LARG		4,908.800 AC	45.00000	220,896.00	40.00000	196,352.00		
0015 E107 2 MOWING (SLOP		180.800 AC	100.00000	18,080.00	125.00000	22,600.00		
0020 E107 2 MOWING (INTER	3 RMEDIATE MACHIN	201.600 E) AC	75.00000	15,120.00	185.00000	37,296.00		
0001 L	ARGE MACHINE S MOWING (AC)	ection Totals:		\$416,240.00		\$438,660.00		

Contract Grand Totals: \$416,240.00 \$438,660.00



01/06/2025

Tabulation of Bids

Page 4 of 4

Letting: 02241211

1 December 11, 2024

Call Order: 001

Contract:

E21G4-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.